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Q.No: 1
2427582

Professional
examination
board

o A View Report View QP View Candidate Responce
The first modern Olympics were held in in the year.
vgen nyFE ol FHad o faba ma am

Athens, 1896

34,1896

Paris, 1900

9i¥E,1900
London, 1908

tie,1908
Stockholm, 1900

wHEIH, 1900

Correct Ans : A

Subject : General Knowledge

Q.No: 2
2428975

GET IT ON

Google Play

MPPEB 2022
PCRT-Reports

View Candidate Question

Testdate 22 Jan 2022 v
TestSlot Shift 1 v

The FRBM Act, which became effective from July 5, 2004 mandated the Central Government to eliminate revenue deficit by which year in order to reduce fiscal deficit to an am

FRBM Siffam, il 5 Jes 2004 F uHTdt gorT, A % WBR ST IGHINY °IE B e IR, SAIE & 3 TR F SRR I 06 FH B3 $ e g af qe Jord °1e &) 99 $3 & g sifan

2007

2007
2009

2009
2010

2010
2011

2011

Correct Ans : B

Subject : General Knowledge

Q.No: 3
2432445

A large but peaceful crowd had gathered in Amritsar, Punjab to protest against the arrest of pro-Indian independence leaders Dr Saifuddin Kitchlew and

R Saaar gade Aash sf Ape e oiR ------- P ARFIRT & iy & 4ole & omaeR # U a9t Afe iifarguf offs om g1 78 A

Dr Rajendra Prasad

EIRIEER S c!
Dr Satya Pal

T 9

Jai Prakash Narayan

g UPIRN ARI
Sardar Vallabhbhai Patel
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TWER qEHHE 7oA

Correct Ans : B

Subject : General Knowledge

Q.No: 4 Which of the following countries dropped atom bombs on Japan to end the Second World War?

2435867
Froffaa & @ frw 3x 3 R Ry g & 9 733 % g som w wang s fiRig?
America
A
At
Germany
B
S
Britain
C
&
Russia
D
il

Correct Ans : A

Subject : General Knowledge

Q.No: 5 Which of the following soil is also known as "Rengur soil"?

2440709
Frafarea & 9 g g &1 YR g i sa o @ 2
Alluvial soil
A
ity firgt
Laterite soil
B
aevEe frg!
Red soil
C
et ot
Black soil
D
et figt

Correct Ans : D

Subject : General Knowledge

Q.No: 6  Which of the following Upavedas is associated with science of music?

2440730
Frafafed ¥ @ o1 w1 udg wild e & wdfa &2
Gandharva
A
e
Sthapatyaveda
B
RIMAIG
Dhanurveda
C
T
Ayurveda
D
omgde

Correct Ans : A

Subject : General Knowledge
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Q.No: 7  Holla Mohalla festival is associated with which state?

2440796
e Hige S P 3og ¥ el 82
Madhya Pradesh
A
Y U™
Uttarakhand
B
IRES
Punjab
C
LEICS
Himachal Pradesh
D

fomra wawr

Correct Ans : C

Subject : General Knowledge

Q.No: 8  In which cricket ground Sachin Tendulkar created the history by becoming the first player to reach 10,000 runs in ODI cricket?

2440901
e dgaas 7 5 fpde fiem o siaxipia uaieaddia fde # 10,000 T 9% UgaH ar Ugd faaret ava sfoer @
Holkar Stadium
A
B Rfean
Aishbagh Stadium
B
T RigTw
Nehru Stadium
(o
oE R
Tatya Tope Nagar Stadium
D

I T TR =

Correct Ans : C

Subject : General Knowledge

Q.No: 9  Who is the secretary of the Madhya Pradesh Badminton Association as of November 20217

2440920
TAER 2021 TP AL U Jsfiie o &b e B 82
Mr. Mahesh Joshi
A
ot TR St
Mr. Anil K. Choughule
B
ot s &. A
Mr. Deepak Nair
C
ot o TR
Mr. R.K Patel
D
f R & v

Correct Ans : B

Subject : General Knowledge

Q.No: 10 Virender Sehwag scored the highest ODI score of runs at Holkar stadium?
2440929

M ATR R A 51 I SR teRadiy @R Reld e
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150
210

210
213

213
219

219

Correct Ans : D

Subject : General Knowledge

Q.No: 11 King Devapala is said to have built which temple in Mitawali 1323 CE?

2441161

T &I A 1323 3. H fraraeh & fw d@iex o1 fmior avamr e

Mahakaleshwar Temple

TRTPRTHR iR

Kakanmath Temple

PIHTIS HAR

Sidheshwar Temple

RS Wi

Chausath Jogini Temple

e AifE TR

Correct Ans : D

Subject : General Knowledge

Q.No: 12 Which award was awarded to Kishore Kumar by Madhya Pradesh Government?

2441275

Y] YN IRBR GRI fHRIR FHAR $T S I GTBR Y fbar e

Lata Mangeshkar Award

Al THIRIHR RRBR

Tansen Award

AT PR
Kalidas Award

PRI [REPR

MP Music Award

et T oS

Correct Ans : A

Subject : General Knowledge

Q.No: 13
2441277

Vasu Chanchlani was awarded the Top

PHAIST & YA URHT GRT Ay daart o1 <y
12

12
18

Canadian Immigrants award by the Canadian Immigrant magazine.

PAISTS SHTIAR QREPR o FrId foban i |

GET IT ON

Google Play
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18

25
C

25

32
D

32

Correct Ans : C

Subject : General Knowledge

Q.No: 14 In which year was the first dry port built in Madhya Pradesh?

2441470
T U ® Ugal 9 UIC b Iy ST T 412
1972
A
1972
1986
B
1986
1994
C
1994
2006
D
2006

Correct Ans : C

Subject : General Knowledge

Q.No: 15 Which tribal community of Madhya Pradesh is administered by the head of panchayat called Sarpanch?

2441606
T UoR & fe anfaredt Wer o1 TR WRuT ANE TaEd & GRan gRI fa s g2
Korku
A
PR
Halbi Kawa
B
Bt
Kawar
C
FAR
Kaur
D
Eatil

Correct Ans : A

Subject : General Knowledge

Q.No: 16 Who was the first Governor of Madhya Pradesh?

2441747
He Y3 P U8 eI B 4?2
P.V. Dixit
A
0.4, e
Satyanarayan Sinha
B

TR T
C B. P. Sitaramaiya
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o1 Ur HiaRHAAar
K.C. Reddy

¥

Correct Ans : C

Subject : General Knowledge

Q.No: 17 According to 2011 Census, what is the rank of Madhya Pradesh in terms of literacy?

2441781
2011 BT THIUAT F SHTER WeRaT 1 8 & Teg 7™ BT B I WIF 872
18
A
18
19
B
19
20
c
20
21
D
21

Correct Ans : D

Subject : General Knowledge

Q.No: 18 Which place is famous for betel nut toys?

2441814
U F RS & R $F o wF s 82
Vidisha
A
fafe=m
Rewa
B
Sar
Dhar
C
YR
Seoni
D
Rt

Correct Ans : B

Subject : General Knowledge

Q.No: 19 Approximately how many schools have been included in CM Rise scheme to upgrade with modern infrastructure in 2021-22 (as per MP Budget 2021-22)?

2441848
2021-22 # 3nyfAiw g 31 & WY SMuds HRA F e T fraa wpal B Wew ugw dioAr & it fman man ¥ (wadl. see 2021-22 % SER)?
2000 Schools
A
2000 KA
9200 schools
B
9200 @
5500 schools
c
5500 ¥
10000 schools
D
10000 THd

Correct Ans : B
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Subject : General Knowledge

Q.No: 20 In which of the following year was the International Monetary Fund formed?

2442418
fFrafafea & & 9 o srRPH Jo1 S P 164 gan U1
1940
A
1940
1948
B
1948
1944
c
1944
1950
D
1950

Correct Ans : C

Subject : General Knowledge

Q.No: 21  Which factors do not affect the environment?

2429245
B RS qafaRer B gufad T F §2
Natural calamity like earthquakes, is the natural factors which cause a huge destruction to the environment.
A
&Y IR WHRP e, PR SRS § S gaiaRv i 4R R F1 R0 I
Pollution is not the most hazardous of all the factors.
B
T Tl FRP # T T T B
Deforestation is caused due to the cutting of trees unnecessarily.
c
ol B Ferd A wY Y 351 A Ferd S SR §1
Increasing population is harshly affecting the environment.
D

Tt RIS TaiaRur Bt gt a¥E wHifd B 36 /1

Correct Ans : B

Subject : General Science

Q.No: 22 In mushroom, the cap-like structure is

2429894
bR & At SRf weer it §
pileus
A
b |
stipe
B
ga
sporangium
C
BlEe]
rhizomorph
D
BRI

Correct Ans : A

Subject : General Science

Q.No: 23 Male cockroaches are characterised by -
2429908
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R [dadg &I @AW 8 -
book lung
A
T PPH
anal style
B
T Seht
spiracles
Cc
Tt A 1 %
tactile receptor
D

=Pt

Correct Ans : B

Subject : General Science

Q.No: 24 Observe the following figure given below. This organism belongs to which kingdom?

2429914

protists
A

few

thallophytes
B

bryophytes
C

pteridophytes
D

MRy

Correct Ans : B

Subject : General Science

Q.No: 25 Observe the following figure given below. This organism belongs to which kingdom?
2429920 .

1 faw ¢ o 91 e @ 3@ g Sia e T T E
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porifera
A
TR
cnidaria
B
g
Ctenophora
C
HEABRT
Nematoda
D
et

Correct Ans : A

Subject : General Science

Q.No: 26 An_____is a substance that neutralizes stomach acidity.
2430154
T var § St e @ i @t FifSra FRa 31
Antacid
A
wis
Antipyretic
B
TIIRIS
Analgesic
C
TFIRE

Antihistaminicos

iitemtwe
Correct Ans : A

Subject : General Science

Q.No: 27  Name the colour that scattered more in the atmosphere.

2430373
I TN HT W Fa3T S agHSa H offie femT gan 7
Red
A
IS
Black
B
Pl
Blue
C
e
White
D
il

Correct Ans : C

Subject : General Science

Q.No: 28 is used to cover kitchen utensils and industrial equipment to keep them from sticking.
2430394


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

DT IYANT I & Tl 3R HTMNTD JUDRUN DI THUD H A & 1074 1hAT STl

Ester
A
T&X
Polyester
B
TR
Teflon
C
i
Polymer
D
iR

Correct Ans : C

Subject : General Science

Q.No: 29 Urine is stored in the bladder and is passed out through the urinary opening at the end of a muscular tube called

2432183
o, ERA BT AT S R A U= e % oid § P & memm § aIeR Fed o g
Ureter
A
ARt
Kidney
B
q&e
Urethra
C
eyl
Anus
D
T

Correct Ans : C

Subject : General Science

Q.No: 30 Which of the following mosquito carries the parasite of malaria?

2432209
Frofafad § & S w1 T FaRar & welld @) 967 aRar 87
Female Anopheles
A
AT Tftheel
Female Aedes
B
g1 GE
Male Aedes
Cc
R
Male Anopheles
D

TR Gt
Correct Ans : A

Subject : General Science

Q.No: 31 The word ‘hygiene’ comes from the Greek word -

2434276
FIEo (W) VS NPT AR -
Hyga

A
TR (Hyga)
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Hygeia

BIFSAT (Hygeia)

Hygro

B (Hygro)

Hygna

T (Hygna)
Correct Ans : B

Subject : General Science

Q.No: 32 Which of the following is NOT a bacterial disease caused due to poor sanitation?

2434306
e A Y 1-301 U Sy T e @ St TR Wl RO Gl 82
Typhoid
A
CRWIRS
Bilharzia
B
Torerefefar
Cholera
C
&
Leptospirosis
D

AR

Correct Ans : B

Subject : General Science

Q.No: 33 Black water is the waste water generated from -

2434331
P TR a7 Sfe o 82
Industries
A
S
Kitchens
B
T
Toilets
C
e
Agricultural activities
D

PR Tfafafe
Correct Ans : C

Subject : General Science

Q.No: 34 is a device used for measuring the force acting on an object
2434544

% IUFR 3 o1 IuanT faft avg R 1 3 9 9 1 A9 & e faan oman &

anemometer
A
TR
spring balance
B

FHAGR ol

C barometer

GET IT ON

Google Play
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Gt

altimeter

Correct Ans : B

Subject : General Science

Q.No: 35 , @ German scientist of the 17th century, invented a pump to extract air out of a vessel to demonstrate the force of air pressure.
2434546

, 1741 Sraredl F ve ST dfie 3 argers & 99 3 welid $37 % e ve sl Qg Feran % e e g a1 nfiseR

Otto von Guericke

A
3t e
Werner Heisenberg
B
TR grEea
Wernher von Braun
Cc
R AT A
Max Born
D
B d

Correct Ans : A

Subject : General Science

Q.No: 36 In the given diagram, Circle represents people who uses two wheeler to travel, Triangle represents people who uses three wheeler to travel and Rectangle represents people w

2426562
3
How many people use two and four wheeler to travel?
o U o #, g 37 @il F1 vl FRar § St ann 7 & R drfear arge o1 IuE #xa 7, Ay S a1 s xar § S amn S & fore ot ae @1 Sudn v € o e
3
far T 21 ok =R ufan areeil 1 ST A B & o ARd 87
4
A
4
13
B
13
9
C
9
7
D
7

Correct Ans : B

Subject : General Reasoning

Q.No: 37 Select the Lettered pair that has the same relationship as given in the questions:
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2426814 Rain : Patter

T SR G BT T B et oy vl § AT e W Hey 9
auf : TTUE

Door : Bang

A
AT : FeweTee
Birds : Flight
B
U : SSH
Animal : Graze
c
ux = WRAT
Men : Walk
D
ey : Eic

Correct Ans : A

Subject : General Reasoning

Q.No: 38 Select the option that is related to the third term in the same way as the second term is related to the first term.

2429559
MQ:O::El:?
I fwed o1 79 FX o AW 08 9 I UHR Yl ¥ O g1 IS Ued UE I HElid B
MQ:0::El:?
F
A
F
H
B
H
E
C
E
G
D
G

Correct Ans : D

Subject : General Reasoning

Q.No: 39 B is in the west direction of K at a distance of 7m who is in the north of S at distance of 25m. H is in the west direction of S at a distance of 5m who is in the north of T at distz

2429707
BKF A A 7 A Al g REAN S FIMA S R A I R H, SH WRARWAS A QP RIN TF WA 0 MR A QPR T, LI ufm R A s e st g R 21 B, |
West, 37 m

A
g, 37 Hiex
South-west, 35 m

B
gRu-u=R, 35 Hiew
North-east, 35 m

C
IR-74, 35 HwR
North-west, 37 m

D

JAR-URH, 37 Hiex

Correct Ans : D

Subject : General Reasoning
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Q.No: 40 In the following question, a certain series of numbers or letters is given of which one series is empty. You have to decide which of the alternative series of the answer will be us
2433147

T4X, P9Q, L14K, ?

Poffaa uy d, Wt ar 3Rl 3 ve Al gaar @ s 3, el A v gkaar T 81 v 98 99 ST | 5 ga T § 39 Jual F ommd ¥ e Rt = F IR 9 o f iR gwe
T4X, POQ, L14K, ?

H16F
A

H16F

H19E
B

H19E

H15E
C

H15E

H18T
D

H18T

Correct Ans : B

Subject : General Reasoning

Q.No: 41 Select the option that is related to the third figure in the same way that the second figure is related to the first figure.
2433463

Problem Figures

T EE

Answer Figures

*| ol =8 ]
tlel] |e1% X
0] ®) q

e
=Es

=)
¢
<)

(d)

39 faed B 779 X o R erpfa I I yoR Wefia § Ford TeR gudt enefa, Tedt angfa & Uefia 71
voa 3naph :

a
o

*[¢| [=[L = ¢ |*
<] [[e1% Xx1Qll =]t
@) ®) © )
(a)
A
(a)
(b)
B
(b)
(c)
C
(c)
(d)
D
(d)

Correct Ans : A

Subject : General Reasoning

Q.No: 42 Identify the figure that completes the pattern.
2433507
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i

I NHfd F TgaH B S Ued BT Q¥ B g

]S
0
C

L —>|
—

]
I

[1

Correct Ans : C

Subject : General Reasoning

Q.No: 43 Select the letter-cluster that can replace the question mark (?) in the following series.
2434355
K,M,P?Y, EL

Froffea e # 39 JeR-Twg &1 999 B ol Uy 5 (?) F ufowifid s w5 g

K,M,P?Y, EL

T
A

T
B

u
C
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w
Correct Ans : A

Subject : General Reasoning

Q.No: 44 In the following question, select the odd number pair from the given alternatives.
2435077

Frafafea uy # fiu e fawed # ¥ favw 9om gwm o1 9wl

35-53
A

35-53

89 -97
B

89 -97

64 - 46
C

64 - 46

51-15
D

51-15

Correct Ans : B

Subject : General Reasoning

Q.No: 45 Identify the diagram that best represents the relationship among the given classes.
2435707

Fundamental duties, rule of law, Single-citizenship

I I P IgaH B3 ol T U AR & S Feler o1 ved e ufafia ot 21
Tt Fde, HFE B R, Thd-ANTReEGdr

00)

S~

TN

6
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00

Correct Ans : C

Subject : General Reasoning

Q.No: 46 Two friends P and Q started walking towards each starting from points A and B respectively, which are 200 km apart. On a straight road P traveled for 30 km on road and stopj
2438485 eached it. What is the distance, in km, between the friends now?

3 o P ol Q FHEr: fiig A 3R B & T S TAF Y 3R T@T & IR ¢, I 200 f5lt R ¥ 1 Wefl T W P A TeF W 30 fht 3 7 Y &R ¥ man Q A 70 e Famn Y, ok T

45
A

45

55
B

55

65
c

65

75
D

75

Correct Ans : B

Subject : General Reasoning

Q.No: 47 If the mirror is placed on the line, then which of the answer figure is the right mirror image/jpg of the given figure?

2438709
A
B

e T g0 3T g2 TS Y@ R @ 9, @ & % [wed srphodl # ¥ $-9 98 gvu i grte

A
B

A

B

TP |
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Correct Ans : A

Subject : General Reasoning

Q.No: 48 Find the odd word/letters/ number from the given alternatives.

2438928
few g fasedt & 9§ v W/ s1ar/ GBI H gHT
12, 144
A
12, 144
20, 400
B
20, 400
15, 225
c
15, 225
17, 285
D
17, 285

Correct Ans : D

Subject : General Reasoning

Q.No: 49  For the following questions Find the odd word/letters/number pair from the given alternatives.

2438955

g g fwedl & & vy wisa/<ie) sieR /e g gRY

48:12
A

48:12

41:5
B

41:5

18:48
c

18:48

35:8
D

35:8

Correct Ans : C

Subject : General Reasoning
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Q.No: 50 Pointing to a photograph a girl says: “He is the brother of the daughter of my mother-in-law’s only son”. How is the boy related to the girl?

2439338
% TR B SR IR A §U TF TSH! ol 80 "8 W U P I 9¢ B1 I FTHE 871 ST TSP T P U 82
Son
A
Eoil
Brother
B
o
Father
C
forerr
Nephew
D
e

Correct Ans : A

Subject : General Reasoning

Q.No: 51 Choose the group of letter which is different from other.

2439471
HeRT & I g B gL o 3FF § i 7
DCB
A
DCB
LKJ
B
LK3
TRP
c
TRP
zvx
D
zyx

Correct Ans : C

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440196 If you go up, you feel cold.

A. you went up

B. you did not go up

C. you felt cold

D. you did not feel cold.

o M gy B gEr F SR IS 918 TR B §| FYHT B T G A, 9181 Ted HYF B I gk Y I 7, R & FUF difdd FY ¥ T FUF Y A T
SR 3T SR I & <l SMIP $S et 81

A. 39 FWR T

B. 30 W & 1Y

C. 3P $3 T ey A

D. 3UsH $3 el ol gt off

AC
A

AC

BC
B

BC

DA
C

DA
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cD

cD

Correct Ans : A

Subject : General Reasoning

Q.No: 53
2440251

Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
If the prices of petrol and diesel increase, people will face a lot of difficulties

A. The prices of petrol and diesel increased

B. The prices of petrol and diesel did not increase

C. people faced a lot of difficulties

D. people did not face a lot of difficulties

fow g Uy 7 T U SR IS 918 IR FUA 8| FUH! BT BT GH T, To1 U8d HUA FI A G FUA § 7, IR & FUA Al FU Y g HUF 9 g
YSra-Siora & I 9 ol Al Bl P! feadmdl o FEeT FHRAT TS

A. U3 SR o & T TG

B. U1 ok ot 9 et F gfg e g8

C. 71Tl T BIBT el B AHAT BT G

D. TNl I TG bl BT W 61 el TSl

BD

BD

BC

BC

DA

DA

DB

DB

Correct Ans : D

Subject : General Reasoning

Q.No: 54
2440286

Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
If you take all mock papers, your performance will improve

A. You took all mock papers

B. You did not take all mock papers

C. your performance improved

D. your performance did not improve.

fom g vy ¥ gET U SR IEF 916 IR FUA 8| YT BT BT GH T, To1 U8d $UA FT A G FUF F g, IR & FUA Il FU Y g HUF I 9 B
g o Tt A TR T €, o oMub TewE H guR S

A. 3o el Hie TR @ g

B. oy wft i IR el g

C. 3MU%P TaxH § GUR g

D. MU WA & GeR & gon

AB

AB

BA

BA

DA

DA

DB
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DB
Correct Ans : D

Subject : General Reasoning

Q.No: 55 Find the related word from the given alternatives.

2442017
Ball : Round
fag Ty et & § wafd wes 31 FX
g : e
Bat : Wood
A
TRNES: THS!
B Math : Cricket
Party : Happy
¢ o : g
D Book : Long
T&P: el

Correct Ans : C

Subject : General Reasoning

QNo: 56 . .o 4 {1 z;E}
2422418 Simplify: 2 + 1=+ (27 i 54)

54

s 1 i (G 2)

2

4
A

2

4

2
B

2

7
c

;

5
D

5

Correct Ans : B

Subject : General Maths

Q.No: 57 Ram borrowed a sum of Rs.9810 from Ravi for two years. If the rate of interest is 12% compounded annually, find the amount that Ram has to pay back.
2423630

I A 3§ 9810 FUT I WA F U IR fog| e =191 BT R 12% TME TG F T §, T IH B I0G YA B S drelt IR 71 S

Rs.4321.89
A

Rs.4321.89

Rs.14126.4
B

Rs.14126.4

Rs.8876.36
C

Rs.8876.36

Rs.1567.80
D

Rs.1567.80
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Correct Ans : B

Subject : General Maths

Q.No: 58 A sum of money deposited at 12% per annum compounded annually becomes Rs. 8920 at the end of 2 years. Find the sum deposited

2423655
12% Ul 79 F @R & o 31 7S I e T U F T SR 2 98 F o 8920 T Y SRl 71 S B M IR FH7 v @y
Rs.8627.381
A
Rs.8627.381
Rs.4531.969
B
Rs.4531.969
Rs.1880.987
C
Rs.1880.987
Rs.7110.96930
D

Rs.7110.96930
Correct Ans : D

Subject : General Maths

Q.No: 59 what will be the compound interest at the rate of 8% per annum for 3 years on that principal which in 3 years at the rate of 8% per annum gives Rs.5424 as simple interest.

2423670

I @A W 3 T F U 8% Ufaad B X § Twafe s @ S St 3 9 & 8% U 99 B R § $.5424 WHRY A & EYH

Rs.5869.4912
A

Rs.5869.4912

Rs.3465.612
B

Rs.3465.612

Rs.5802.662
c

Rs.5802.662

Rs.7890.126
D

Rs.7890.126

Correct Ans : A
Subject : General Maths

Q.No: 60 Solve:

2428555
200 - 50 x 3 - 10 + (100 + 4)
T B
200 - 50 x 3 - 10 + (100 + 4)
60
A
60
65
B
65
69
C
69
70
D
70

Correct Ans : B
Subject : General Maths


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

Q.No: 61 Solve:

2428636
{23.26 + 85.56 of 3.37 - 46.89 x 13 + [353.5 + 5 + 156.25 + 25 - 99.98 + (46.89 of 6 - 54.69 of 7)1}
S
{23.26 + 3.37 A1 85.56 - 46.89 x 13 + [353.5 + 5 + 156.25 + 25 - 99.98 + (6 P146.89 - 7 DI 54.69]}
-422.4928
A
-422.4928
-420.5669
B
-420.5669
420.5669
C
420.5669
422.4928
D
422,4928

Correct Ans : A

Subject : General Maths

Q.No: 62 Express the following ratio in the simplest form.

2429416
3216 : 876
ST BT IAdH 7 T Fad H:
3216 : 876
49:75
A
49:75
268:73
B
268:73
554:17
o
554:17
376:11
D
376: 11

Correct Ans : B

Subject : General Maths

Q.No: 63 A batsman in his 17th innings makes a score of 85 and their by increasing his average by 3. What is his average after the 17th innings?

2432534
TP qeaar S 1747 IR § 85 &1 ¥R F961 § 9k 9% oiwd § 3 31 S FRar 81 173 Uk & 91e Iuet ofred @ g2
35
A
35
37
B
37
36
c
36
38
D
38

Correct Ans : B

Subject : General Maths
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Q.No: 64 A train covers the first 160 km at a speed of 120 km/h, another 160 km at 140 km/h, and the last 160 km at 80 km/h, Find the average speed of the train for the entire journe

2432555

T & UEa 160 fpaiiex 31 120 fpdiiez/de 31 7id 3, gl 160 fraiiex @1 gl 140 faiez/oe &1 fa 3 70 3t 8, @R 3ifaw 160 fbeiier ®1 80 fblitez/ue 31 i1 § 70 =l 8, ©

107 km/h
A

107 km/h

105 km/h
B

105 km/h

110 km/h
c

110 km/h

104 km/h
D

104 km/h

Correct Ans : A

Subject : General Maths

Q.No: 65 Find the average of first 50 natural numbers?

2432586
TgA 50 Tibfad Gemal &1 igd Gel?
25
A
25
25.5
B
25.5
26
c
26
26.5
D
26.5

Correct Ans : B

Subject : General Maths

Q.No: 66 \What should comein place of question mark in the following number series?

2433072
184 +13.9 x5.4+12.04 —129.1 =?
FormrforfRrer shoaT-shrer # sraireg () % ST T AT AR
184 +139 x5.4+12.04 —129.1 =?
145
A
145
142
B
142
144
C
144
138
D
138

Correct Ans : B

Subject : General Maths
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Q.No: 67 64
4 4 _
2434756 _ _X-—-=7 X'-—
If X ,x#0, then the value of 2—213:
X p—
x+ -84
. |
g *"x 7 x#08, Al X7 -4 DI A DL
70
A
70
427
B
427
61
c
61
127
D
127

Correct Ans : C

Subject : General Maths

Q.No: 68 Akshay sells a watch to Rajpal at a gain of 17% and the Rajpal sells it to a Sunil at a loss of 6%. If the Sunil pays Rs. 65988, what had it cost to Akshay?

2435251
& 17% & A TR IS HI TF TS =1 § IR AU T 6% P g1 TR G H 99 a1 21 AfE G ST 65988 F1 4fTdH Fxal 7, T 31ef F T 390 U<t 31 7 T gimre
Rs. 54000
A
54000 ¥0
Rs. 60000
B
60000 ¥T
Rs. 65000
o
65000 T4
Rs. 70000
D
70000 7Y

Correct Ans : B

Subject : General Maths

Q.No: 69 Mixture of water and alcohol is 40 litres, in which water is 60% of alcohol. Find the quantity of water added in the mixture so that water becomes 20% more than the alcohol.

2435441
T 3R TR &1 101 40 Thex &, forad arl, TR1E 31 60% §1 fisor F urt it vt wnn e 9/ & ot e & 20% s g 5
24L

A
24L
15L

B
15L
12L

C
12L
20L

D
20L

Correct Ans : B

Subject : General Maths

Q.No: 70
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2437509 pfohan bought 5% kg of mangoes and he ate % kg. How many kg of mangoes are left.

T 5.2 el o i IR S G A  faveftara o 1 g 1 ) e oo o R

€
4= kg

A
3 Tt
3%!(9

B
33 fdnm
6=kg

C
63 frcima
7; kg

D

~
wiln

Correct Ans : A

Subject : General Maths

Q.No: 71 If in a symbolic language ‘MARS’ is written ‘ZNEF’ then *ARMS’ will be written in the same language as?

2422558

e fpdt Fichfas T & 'MARS' &1 ' ZNEF* feram oTg df * ARMS' 1 3t w1 # ferar smam fored?

NEZF
A

NEZF

FENZ
B

FENZ

NFZE
C

NFZE

MEZF
D

MEZF

Correct Ans : A
Subject : Mental Ability

Q.No: 72 If the letter in PRABA are coded as 27595, and THILAK are coded as 368451, how can BHARATHI be coded?

2426494

Tl PRABA & 31&R &1 27595 3R THILAK P 368451 & w0 H HIfSd fawam an 7, A BHARATHI $1 &8 Sifd faman o gaar g2

37536689
A

37536689

57686535
B

57686535

96575368
c

96575368

96855368
D

96855368

Correct Ans : C
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Subject : Mental Ability

Q.No: 73 In a code language, ENVIRONMENT is written as DOUJQPMNDOS. How will NOTIFICATION be written as in that language?
2434409

& fAfdd H W H, ENVIRONMENT &1 DOUJQPMNDOS & ¥ H foral Sirar 81 St 4797 § NOTIFICATION &1 & ferar smem?

MPSEJEBEBM)J
A

MPSEJEBEBM)

MPSEJEBBSIPO
B

MPSEJEBBSIPO

MPSJEBEBSIM
C

MPSJEBEBSIM

MPSJEJBBSINO
D

MPSJEIBBSINO

Correct Ans : D
Subject : Mental Ability

Q.No: 74 In a certain code, ‘NORMAL' is written as ‘IJMHVG’. How ‘PRESENT’ is written in that code?

2434445

T fAf¥d F W H, "NORMAL" &I "IIMHVG" frar wren g1 3 Fe Ho & "PRESENT” &1 $9 feran smem?

KMZNZIO
A

KMZNZIO

KIZNYIP
B

KIZNYIP

KMZNYIO
C

KMZNYIO

KMZNYJO
D

KMZNYJO

Correct Ans : A
Subject : Mental Ability

Q.No: 75 While running in a race Mohit cross Jatin after crossing the 20 student, after doing so he is just behind the runner who is fastest among them. Find the total number of student

2435341

T IS H Gied 9Ad Hifed 20 BEI H1 UR $3 & 918 Wi B1 IR S0 ¢, T 31 & 915 96 974 4 9G4 a0l U19P & 315 WD Tl ¢1 TS H W O 9l BRI 31 ol GO 91d i

24
A

24

22
B

22

25
c

25

23
D

23

Correct Ans : D

Subject : Mental Ability

Q.No: 76 In question below are two statements followed by three conclusions numbered I, II and III. You have to take the given statements to be true even if they seem to be at varian
2435481
Statements:
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I. No river is winds.

II. Some winds are clouds.
Conclusions:

I. Some rivers are clouds.

I1. Some clouds are not winds.

II1. Some winds are river.

12 e g vy 7 € FA SR I9F g o P 1, 11 ofR 111 T Y §1 oot AT e el Y I AT 8, 4 & wrer aedl @ e welt € €Y of R o o i e i e g e s
U

1. I 7 g 7 R

11. T &1 9159 o

s

I. $9 7 959 ¢

I1. $ a15a gl T8l 8

I1I. $© §aT 11 1

Only conclusion III follows.

Faaq fepy 111 3R Hal 5

Only conclusion II follows.

e e 1T e F<a 21

Both conclusions I and III follows.

2Rl e 1 3R 11T SgERTT B

None of the conclusions follows.

1 ot Py srgarvr 8 wear §1

Correct Ans : D
Subject : Mental Ability

(22‘-:1?'05:57471 In question below are three statements followed by three conclusions numbered I, II and III. You have to take the given statements to be true even if they seem to be at varia
Statements:
I. Some cats are dogs.
II. Some dogs are deer.
II1. All deer are camels.
Conclusions:
I. Some cats are deer.

II. No cat is deer.

III. Some camels are cats.

AR fw T vy B T By SR IuF a1g T P 1, 11 SR 11 T I §) Siuet fw T e B He WA R, 918 A WIRa: 9 aei O R el S @, oo fofa e 8 e few e @t
T

1. 79 et 39 g

I1. % 1 RO €1

111 Wl fgRor Se g

fr:

L. 3% fawh fe=or g1

I1. &Y foreet faor 78 81

I11. & e faeh g

Neither conclusion I nor II follows.

T frsed 1 iR T & IT SR FRen R

Either conclusion I or II follows.

7 o Fresy 17 11 SR BT B

C Only conclusion III follows.
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DAd Y I ISR H3dl 6l

Both conclusions I and II follows.

SRl sy 1 3R 1T SR 3R §
Correct Ans : B
Subject : Mental Ability

Q.No: 78 A cube is painted and cut into 216 smaller and identical cubes by making the minimum possible number of cuts. How many smaller cubes have only one painted face?

2438401
TP 99 31 e foar o § @R 216 BIE SR WM w41 § e o ot 8, orad el &1 gram ava §@ g1 fvem 81 o & $aa tF ) g B 82
64
A
64
96
B
26
216
c
216
50
D
50

Correct Ans : B
Subject : Mental Ability

Q.No: 79  What is the maximum number of pieces into which a cube can be cut by 12 cuts?

2438429
TS T &1 12 el § Bled W b b e U §id 82
64
A
64
81
B
81
120
c
120
125
D
125

Correct Ans : D
Subject : Mental Ability

Q.No: 80 In the question given below, three statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance
2439100 Statements:

Some originals are duplicates.

Some scripts are originals.

Some scripts are papers.

Conclusions:

I. Some originals are papers.

II. Some scripts are duplicates.

R g T vy B A o I 36 vy @ Ay 1T 11 R | ot R T wuE 3 9 AN €, 4 8 95 Sda i § i weld @ 8 au wurl & S1uR W SIUEY ST STR o §
FY:

% 0 giwde g

Fo fafrf g@ g1

Po foftal TR &1
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THRY:
1. $8 d SN ¢
11. $o fiftaf e €1

Only conclusion II follows

Fad fpy IT R B g

Both conclusion I and II follow

Fpy 1 3R 11 ST SRR B B

Neither conclusion I nor II follows

T iy 1 3R T8 1T TR Ha B

Only conclusion I follow

P e 1 3gER0 Har g
Correct Ans : C
Subject : Mental Ability

Q.No: 81 If radio is called compact disc, compact disc is called tape-recorder, tape recorder is called television, television is called cooler and cooler is called air-conditioner. We can use 1

2439214
TR Y 31 Bl 5@ o1 o 3, B 5% 31 20-ReIe Fe1 o §, 20 Rl @ ThfIsr Fet oI 8, 2ofifasr 1 Fer a1 Sl § ok gk &1 TR-HSR Sl il 81 8 T 37
Radio
A
RiEe
Television
B
e
Cooler
C
R
Compact Disc
D

P 5
Correct Ans : C
Subject : Mental Ability

Q.No: 82 1If press is called refrigerator, refrigerator is called air conditioner, air conditioner is called cooler, cooler is called washing machine and washing machine is called gas stove. We
2439253

g T B APoRex BT W §, APoReX B TR HIR Tl ol ¢, TR SRR BT HoR gl Sl §, TER Bl IR A T Sl 7 IR MR A Y 79 K9 Tl oIl 81 89 30 IS T

Gas stove
A
owa
Washing machine
B
SR =
Cooler
C
FW
Air Conditioner
D

TR HITR
Correct Ans : A
Subject : Mental Ability

Q.No: 83 If“man’is called ‘girl, ‘girl’ is called ‘woman’, ‘woman’ is called ‘boy, ‘boy’ is called *butler’ and *butler’ is called ‘rogue’, who will serve in a restaurant?
2439283

I I B TSHI, TSB! DI ‘AR, Wi FI 'TSH!, ASH P 'TeeR’ AR 'TER' B 'GY F§1 A, A WeRe K HH Ja1 HaT?
A Butler
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Girl

Man

Rogue

«®

Correct Ans : D

Subject : Mental Ability

Q.No: 84 Arrange the following words as per order in the dictionary
2442741

a. Guarantee

b. Group

c. Grotesque

d. Guard

e. Groan

Frafarea wedl o1 Teaem # 3T T8 F9 & offeR fafawe
a. Guarantee

b. Group

c. Grotesque

d. Guard

e. Groan

a,c e b, d

a,ceb,d

b,e,a,d, c

b,e, a,d, c

b,c, e a,d

b,c,e,a,d

e cb,a d

e c b,a d
Correct Ans : D
Subject : Mental Ability

Q.No: 85 From the given alternative words, select the word which cannot be formed using the letters of the given word.
2442780

BEDUMBED

fow U defoue Wl # ¥ 96 es AT Sff 3T 0 TE F 1aRY BT UGN PR T ST S Wbl
BEDUMBED

Dumbed

Dumbed

Bud

Bud
Mud

Mud

D Numbed
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Numbed

Correct Ans : D
Subject : Mental Ability

Q.No: 86 If 20 girls can prepare 340 garlands in 17 hours, how many girls are needed to prepare 420 garlands in 1 hour?

2423723

Tfg 20 Tefdhar 17 ¥ F 340 ATA TR IR Gddl §, @ 1 8 H 420 IO R B4 & o oot wrsferdl @t srazadmar gt

420 girls
A

420 TefFar

350 girls
B

350 ASfHar

430 girls
C

430 TSt

130 girls
D

130 wefear

Correct Ans : A
Subject : General Aptitude

Q.No: 87 A and B can do a piece of work in 19 days and B in 17 days. They work together for 3 days and then A goes away. In how many days will B finish the remaining work?

2423741
A SR B U& HTH $ 19 A # iR B, 17 & & o= o §1 3 3 R o v Wy ovrd vl § 9iR hR A w1 oan 71w Rt 1 B e o & e e
376/23 days
A
376/23 f&A
209/12 days
B
209/12 7
109/65 days
o
109/65 f&
272/19 days
D

272/19 @7
Correct Ans : D

Subject : General Aptitude

Q.No: 88  Find triangle’s base if area is 360 cm? and height is 18 cm.
2426208

It &1 360 et § 3R Frs 18 J+ § &t Brapior &7 3R &8

70 cm

A
70 ¥
50 cm

B
50 ¥
80 cm

Cc
80 ¥difiex
40 cm

D
40 Hdirfiex

Correct Ans : D

Subject : General Aptitude
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Q.No: 89 Which of the following is divisible by 137

2427606
Fofafed & & 91 13 9 faursg §2
35861
A
35861
45781
B
45781
98295
o
98285
136513
D
136513

Correct Ans : D

Subject : General Aptitude

Q.No: 90  Which of the following is divisible by 9?

2427619
Froffea § 4 o1 o I favrsa &2
9345765321

A
9345765321
8908532138642

B
8908532138642
75421489097568

c
75421489097568
92467899642762

D
92467899642762

Correct Ans : D

Subject : General Aptitude

Q.No: 91  Which of the following is divisible by 7?

2427632
Frofafea & 9 o 7 3 v @2
155733
A
155733
279906
B
279906
3790742
c
3790742
90862114
D
20862114

Correct Ans : A

Subject : General Aptitude

Q.No: 92 The sum of the ages of a father and his son is 45 years. Five years ago, the product of their ages was 34. The ages of the son and the father are respectively?

2431187 yg e SR 3B YA B 31g H1 AN 45 ¥ B Ui af Ugd, IS} Mg T qUAET 34 ATl GF SR e B g waLr: 82

A 6 and 39
6 3R 39

B 7 and 38
7 3k 38
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C 9 and 36
9 3R 36

D 11 and 34
11 3R 34

Correct Ans : A

Subject : General Aptitude

Q.No: 93 The difference between a three-digit number and the number formed by reversing its digits is not a multiple of:

2431198
@ i 3 Bl G SR b (i B Saied T T b I 1 SR BT O T 8
9
A
9
11
B
11
29
c
99
101
D
101

Correct Ans : D

Subject : General Aptitude

Q.No: 94 In the given figure AB || CD || EF || GH and BH = 100 cm. Find the value of DF.
2431338
B

D

50 cm

2 C
30 cm
E F
10
oL \u
/ \

e & R ¥ AB || CD || EF || GH 3R BH = 100 ¥+, & DF &1 AF I1d $iforg|

B
D

\s

50 cm
30 cm G

E
40
YA
/

A 26 cm
26 9

B 40 cm
40 &t

c 25 cm
25 3t

D 24 cm
24 it

Correct Ans : C

Subject : General Aptitude

Q.No: 95 If the base of a parallelogram is 10 cm and its altitude is 0.0005cm. Find its area?

2433742
I TP THIGR TGS HT YR 10 it § R 39 SIE 0.0005 Tt B 1 39T da Fa Fifore?
0.005
A
0.005
0.05
B
0.05
0.5
c
0.5
5
D
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Correct Ans : A

Subject : General Aptitude

Q.No: 96 Find the area of parallelogram whose altitude is 0.089 cm and base is 0.0123 cm.

2433777
FHIR IGYS FT & T I Rrga Farg 0.089 Jt iR MR 0.0123 It g1
0.01047
A
0.01047
0.001947
B
0.001947
0.0010907
c
0.0010907
0.0010947
D
0.0010947

Correct Ans : D

Subject : General Aptitude

Q.No: 97 Find the ratio of ages of two students after 6 years, if the ratio of present age of two students is 2 : 3 and 6 years back, the ratio was 3 : 5?

2436889
g &) BET B A g BT U 2: 3 qUT 6 I UGH U 3: 5 T, Al 6 TN QG IAB! 3G BT U 1A BIOT?
7:5
A
:5
17
B
5:7
3:5
C
3:5
6:5
D
6:5

Correct Ans : B
Subject : General Aptitude

Q.No: 98 Find remainder in (123456789101112... up to 53 digits) + 8

2438085
(123456789101112... 53 @I a&) + 8 T YDA I Hx:
7
A
7
4
B
4
1
C
1
0
D
0

Correct Ans : A
Subject : General Aptitude

Q.No: 99 The divisor is 25 times the quotient and 5 times the remainder. If the quotient is 16, the dividend is -
2444624
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IS, UTTHA $T 25 THT 3R 9B $T 5 T §1 e URTHE 16 , o UIsT B-

400
A
400
480
B
480
6400
C
6400
6480
D
6480

Correct Ans : D

Subject : General Aptitude

Q.No: 100 What should come in place of question mark ‘?’ in the following number series?

2444705
6, 6, 12, 36, 144, 720, ?
Frfafed v=a 3 u=A % (7) & _=MA R & Smm
6, 6, 12, 36, 144, 720, ?
3640
A
3640
4320
B
4320
71
C
71
113
D
113

Correct Ans : B

Subject : General Aptitude
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